

Name: Adeleye Adebisi Moyinoluwa

Matric Number: 19/MHS01/031

Department: Medicine and Surgery

College: Medicine and Health Sciences

Assignment 10

$$1. \int \frac{11-3x}{x^2+2x-3} dx = \int \frac{11-3x}{(x+3)(x-1)}$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{A}{x+3} + \frac{B}{x-1} \dots \textcircled{1}$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{A(x-1) + B(x+3)}{(x+3)(x-1)}$$

$$11-3x = A(x-1) + B(x+3) \dots \textcircled{2}$$

$$\bullet F(-3) \Rightarrow 11-3(-3) = A(-3-1)$$

$$\frac{20}{-4} = \frac{-4A}{-4} \quad \therefore A = -5$$

$$\bullet F(1) \Rightarrow 11-3(1) = B(1+3)$$

$$\frac{8}{4} = \frac{4B}{4} \quad \therefore B = 2$$

Substitute A and B in equation 1

$$\frac{11-3x}{(x+3)(x-1)} = \frac{-5}{x+3} + \frac{2}{x-1}$$

$$\int \frac{11-3x}{(x+3)(x-1)} dx = \int \frac{-5}{x+3} dx + \int \frac{2}{x-1}$$

$$\bullet \text{ Let } u = (x+3) \quad \frac{du}{dx} = 1 \quad \therefore du = dx$$

$$\int \frac{-5}{x+3} dx = \int \frac{-5}{u} du = -5 \int \frac{1}{u} du = -5 \ln u$$

$$\bullet \text{ Let } u' = (x-1) \quad \frac{du}{dx} = 1 \quad \therefore dx = du$$

$$\int \frac{2}{x-1} dx = \int \frac{2}{u} du = 2 \int \frac{1}{u} du = 2 \ln u'$$

$$\text{Ans} = -5 \ln u + 2 \ln u' + c$$

$$\text{Ans} = -5 \ln(x+3) + 2 \ln(x-1) + c$$

$$2 \int \frac{4x-16}{x^2-2x-3} dx = \int \frac{4x-16}{(x-3)(x+1)} dx$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A}{x-3} + \frac{B}{x+1} \dots \textcircled{1}$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A(x+1) + B(x-3)}{(x-3)(x+1)}$$

$$4x-16 = A(x+1) + B(x-3) \dots \textcircled{2}$$

$$* F(3) \Rightarrow 4(3)-16 = A(3+1)$$

$$\frac{-4}{4} = \frac{4A}{4} \quad \therefore A = -1$$

$$* F(-1) \Rightarrow 4(-1)-16 = B(-1-3)$$

$$\frac{-20}{-4} = \frac{-4B}{-4} \quad \therefore B = 5$$

Substitute A and B into equation 1

$$\frac{-1}{x-3} + \frac{5}{x+1}$$

$$\int \frac{4x-16}{(x-3)(x+1)} dx = \int \frac{-1}{x-3} + \int \frac{5}{x+1}$$

$$* \text{ Let } u = (x-3) \quad \frac{du}{dx} = 1 \quad \therefore dx = du$$

$$\int \frac{-1}{x-3} dx = \int \frac{-1}{u} du = -1 \int \frac{1}{u} du = -1 \ln u$$

$$* \text{ Let } u = (x+1)$$

$$\int \frac{5}{x+1} dx = \int \frac{5}{u} du = 5 \int \frac{1}{u} du = 5 \ln u$$

$$\text{Answer} = -1 \ln u + 5 \ln u + c$$

$$\text{Answer} = -1 \ln(x-3) + 5 \ln(x+1) + c$$

$$3 \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$$F(2) \Rightarrow 2(2)^2 - 9(2) - 35 = B(2+1)(2+3)$$

$$2(4) - 18 - 35 = B(3)(5)$$

$$\frac{-45}{15} = \frac{15B}{15} \quad \therefore B = -3$$

$$F(-3) \Rightarrow 2(-3)^2 - 9(-3) - 35 = C(-3+1)(-3-2)$$

$$2(9) + 27 - 35 = C(-2)(-5)$$

$$10 = 10C \quad \therefore C = 1$$

$$F(-1) \Rightarrow 2(-1)^2 - 9(-1) - 35 = A(-1-2)(-1+3)$$

$$2 + 9 - 35 = A(-3)(2)$$

$$\frac{-24}{-6} = \frac{-6A}{-6} \quad \therefore A = 4$$

$$\therefore \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{x+1} + \frac{-3}{x-2} + \frac{1}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$* \text{ Let } u = x+1 \quad \frac{du}{dx} = 1 \quad \therefore dx = du$$

$$\int \frac{4}{x+1} dx = \int \frac{4}{u} du = 4 \int \frac{1}{u} du = 4 \ln u$$

$$* \text{ Let } u = x-2 \quad \frac{du}{dx} = 1 \quad \therefore dx = du$$

$$\int \frac{-3}{x-2} dx = \int \frac{-3}{u} du = -3 \int \frac{1}{u} du = -3 \ln u$$

* Let $u = x+3$ $\frac{du}{dx} = 1$ $\therefore dx = du$

$$\int \frac{1}{x+3} dx = \int \frac{1}{u} du = 1 \int \frac{1}{u} du = 1 \ln u$$

$$\therefore \text{Ans} = 4 \ln u - 3 \ln u + 1 \ln u + C$$

$$\therefore \text{Answer} = 4 \ln(x+1) - 3 \ln(x-2) + 1 \ln(x+3) + C$$